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Questions

Computer based weather forecasting depends on accurate collection of data from;

Modern Computers can perform calculations or process at high speed

Typically an ATM can be used to;

A word processor can be used to:

Computer at home can be used for:

The benefit of CAD may be summed up as:

Many products are designed by using:

CBT Software is used in

CBT stands for

Which of the following is to business

Most applications of robotics are in which area

The fly - by wire system is used in

Which of the following is not included in document management system

CBT stands for

The benefit of CAD may be summed up as
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Answers Choice

A. Television

. Weather stations
. Radar

Antenna

Per second
Per Minute
Nine Second
None

Keeping records
Making budgets

Watching movies
None

Write text
Edit text
Print text
ALL

Keeping record
Making budgets
Watching movies
ALL

Accuracy

Repeatability

Speed and flexibility of production
All of the above

ATM
Robot
CAD
CAM

Education
Forecasting
Manufacturing
None

Computer based trade
Computer based training
Certificate based trade
None

Marketing

Stock exchanges
Banks

All

Science
Manufacturing
Education
Farming

. Medical field

Air line

. Education field
None of the above

Word - processing
Desktop - publishing
. Reprographic

E - shopping

Computer Based Trade

. Computer Based Training
. Certificate Based Training
None of the above

. Accuracy

. Repeatability

. Speed and flexibility of production
All






